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[image: image1.png]L. Hosmopum opmyast dan pewenun npocmetiutux
mpu2OHOMempU1ecKUX ypasHeHuii:

sin x = a;|a| £ 1;x = (—1)" arcsin atnn, n €2
sin x=0; x=nk; k€ Z;

sinx =I; x= §+27rk; k€Z;

sinx =1; x=-Z+2nk; k € Z;

cos x=a; |a|=l; x=tarccos at2nn; n € Z;

cos.x,=0;x=:—i-7rk; kE€2Z;
cosx=Il; x=2nk; k € Z;

cos x=-1; x=n+2nk; k € Z;
1g x=a; x = arctga+nn; n € Z;

clgx =a; ; x = arcetgatnn; n € Z;

II.  Hoemopum memodsl peuteHus MpuU2OHOMEMPUUHECKUX
ypasueHuil:

1. Ypaguenun ceooriyuecs Kk Kaopammwim;

2. Ypaenenus euda a sinx+ b cosx=0;

3. ¥Ypaenenun suda asinx + b cosx=c;

4. Memoo pasnoscenus neeoii sacmu Ha MHOHCUMENU;
5. I'paguueckuit Memod;

6. Memoo yrusepcanvnoii noOcmasKu.
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